 (
Objective:
)Name:____________________________________
Date:_____________________________________
Example 1:  Lionel went to the movies and bought one jumbo popcorn and two chocolate chip cookies for $5.00.  India went to the same movie and bought one jumbo popcorn and four chocolate chip cookies for $6.00.  How much does one chocolate chip cookie cost? 
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Step One - Set It Up:

	Equation One:

	Equation Two:

[image: http://www.google.com/url?source=imglanding&ct=img&q=http://dreambakers.org/wp-content/gallery/cookies/ist2_3945403-chocolate-chip-cookies.jpg&sa=X&ei=8c4JT6dXpPDSAd-xyJAC&ved=0CAsQ8wc&usg=AFQjCNEV5YJLLh3DlUSDCcS-MpRXSobxRQ]Step Two – Solve:
        








Step Three – Answer the Question  Chocolate chip cookies cost ____________________ each.


Example 2:  ESHS basketball team scored a total of 70 points in their last game.  They made 25 total shots.  Some of the shots were worth two points and some of the shots were three-pointers.  No free throws were shot.  How many shots of each type did they make?

[image: ]Step One - Set It Up:

	Equation One:

	Equation Two:

Step Two – Solve:
        








Step Three – Answer the Question The team shot _________ two pointers and ________ three pointers.
You Try!:

Example 3:  I have two unknown numbers. Let x represent the smaller number, and y represent the bigger number. The sum of two numbers is 11. If you multiply the smaller number by 2, and then subtract the larger number from it you will have 4. What are the two numbers?

Step One - Set It Up:

	Equation One:

	Equation Two:

Step Two – Solve:
        









Step Three – Answer the Question  __________________________________________________________.


Example 4:  A group of adults and children decided to go to the movies. Tickets to the movie cost 4 dollars for children and 9 dollars for adults.  The total cost was $79. There were 11 people in the group. Create a system of equations to represent this situation. Solve the system using substitution to figure out how many children and how many adults were in the group. 

Step One - Set It Up:

	Equation One:

	Equation Two:

Step Two – Solve:
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